
VENN DIAGRAMS
[ESTIMATED TIME: 60 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE

A, B and C are three sets.

A ∩ B = Ø and C � A

AE

(a) Complete the Venn diagram to show the sets B and C
(2)

(b) On the Venn diagram, shade the region that represents A ∩ C /
(1)

1. [3 marks]

2. [4 marks]
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3. [2 marks]

4. [3 marks]
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5. [4 marks]
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A and B are two sets.

n(E

n(A

n( )A B∩

n( )A B∪

(a) Complete the Venn Diagram to show the numbers of elements.

(2)

(b) Find (i) n( )A B∩ ′

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

   (ii) n( )′ ∪ ′A B

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 (2)

. . . . . . . . . . . . . .. . . . . . . . . . . . . .. . . . . . . . . . . . . .

. . . . . . . . . . . . . .

E

A B

6. [4 marks]
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P and Q are two sets.

n(P) = 9 and n(Q) = 5

(a) Find the value of  n(P Q) when P Q = Ø

 n(P Q) = .........................

(1)

(b) Find the value of  n(P  Q) when Q  P

n(P Q) = .........................

(1)

(c) (i) Complete the Venn Diagram to show numbers of elements when n(P  Q) = 3

P Q

   ..........        ..........       ..........

 (ii) Find the value of n(P  Q) when n(P  Q) = 3

 n(P  Q) = .........................

(3)

7. [5 marks]
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In the Venn diagram, 3, w, x and y represent the numbers of elements.

n( ) = 24 n(P ) = 8 n((P Q) ) = 15

(a) Find the value of (i) w (ii) x (iii) y

(i) w = .....................

(ii) x = ......................

(iii) y = ......................

(3)

(b) (i) Find n(P Q).

..........................

(ii) Find n(P Q ).

..........................

(iii) Find n(P Q P ).

..........................

(3)

P Q

yx 3

w

8. [6 marks]
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∩

∪ ∪

∩
∪

9. [4 marks]
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10. [4 marks]
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The Venn diagram shows a universal set E and three sets A, B and C.

A B

C7

E

6
3

2

10

������������	
����
��
���	������numbers of elements.

Find

(i)  n ( )A B∪

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(ii)  n ( )′A

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(iii)  n ( )B C∩ ′

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(iv)  n ( )′ ∪ ′A B

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

11. [4 marks]
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12. [4 marks]
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13. [4 marks]
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A garage tests cars for faults.
There are three types of fault – braking, steering and lighting.
A car fails the test if it has one or more of these three types of fault.

Last week,  11 cars had braking faults
  9 cars had steering faults
  7 cars had lighting faults
  no car had both steering faults and lighting faults
  2 cars had both braking faults and steering faults
  3 cars had both braking faults and lighting faults.

By drawing a Venn Diagram, or otherwise, find the number of cars which failed the test 
last week.

14. [3 marks]
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15. [4 marks]
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16. [4 marks]
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